
Answer on Question #81929, Chemistry/ General Chemistry 

For the reaction A (aq) + B (aq) C (aq) + D (aq), the equilibrium constant is 21.8 at 25 degrees 

celsius and 35.8 at 50 degrees celsius. What is the value of the variation in Gibbs standard free 

enthalpy (in kJ) of this reaction at 75 degrees celsius?  

Solution  

We should use Van’t Hoff equation to answer this question: 
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To find K3 at 75OC we can use either data for K1 or for K2. We will use data for K2, T2=323 K 
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∆𝐺 = −11581
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= −11.581 𝑘𝐽/𝑚𝑜𝑙 

Answer: -11.581 kJ/mol 
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